FR26EELESFEFRBERTRR AT IYMR—ILBRAR
FIRIEEEHEFRNRTYMNR—ILEFHEXRE

(8H28(X) 1[m3 >EHER]

GR F—L% 1st 2nd 3rd 4th oT Total
a1 HEERE FiRR) 21 19 19 24 83
—  |BIRIBE (RBE) 9 14 22 28 73
H MiLEE (EER) 26 11 11 20 68
— |TUAEEFH (FER) 19 14 17 17 67
I BB (FHEIIE) 18 14 11 27 70
= EREXEE (ERER) 27 13 24 29 93
g1 MTLEEZ (FITLUE) 13 4 14 15 46
— BIEE (RIE) 15 9 18 20 62
Ki REMEERT (HAR) 16 15 27 12 70
— |EHR (FNR) 13 4 15 31 63
a2 BAFFEBRL CREBE) 31 22 24 17 94
=  |—E¥ER (BFR) 15 14 19 19 67
H2 HEKRK= (EHR) 11 15 19 22 67
— |ELX%Fi (LEREER) 10| 18 19 16 63
12 WRHIZIEE (LEER) 19 15 9 21 64
= BEZE (FREER) 9 17 11 24 61
42 WMAEMIEE (BER) 20| 8 15 23 66
= ZHFE (BHE) 14 26 33 19 92
K2 BEFE (R&E#) 14 25 15 19 73
— BIAILEE EBR) 13 9 14 19 55
a3 ZERF (ERER) 14 17 23 13 67
=  |ENEZ (FHE) 16 14 5 12 47
H3 BEX (BFBER) 22 15 24 19 80
=  |EEFWN (EER) 14 12 19 24 69
13 BYLEHE (LBR) 15 11 25 23 74
= B)IELZF (dtimE) 16 12 10 22 60
J3 BIZEH (EBHE) 15 10 9 9 42
= IFEZF (KER) 23 21 10 15 69
K3 BydiEd (KHER) 17 18 11 11 57
— | KR#AE (KBRAT) 24 36 34 22 116
a4 ERBE (HERNER) 20| 18 14 24 76
= |BNKE (BBARR) 17 14 17 16 64
Ha BhRTFREE (FHRE) 12 11 17 18 58
— WH=2E (FER) 15 21 20 23 79
1 HBEEW (BER) 14 8 15 13 50
= fIRLDF (dLifEE) 34 31 23 24 112
J4 TESR (LR 21 22 18 19 80
— HERESY (EER) 14 23 18 18 73
K4 BIiXFrE (BRE) 12 18 18 29 77
—  |EREAE (REAR) 30| 28 24 29 111
a5 BB E  (BRRIR) 25 21 16 21 83
=  |EREfMlLzF (BRERE) 8 19 19 10 56
H5 FHFERELXF (EEER) 27 23 19 10 79
=  |FHEXEXRF WHKE) 24 18 12 15 69
5 BIUEMR (EESR) 13 20 5 18 56
= EREZE (FIFE) 8 13 28 25 74
J5 EiE CriER) 24 16 14 13 67
= INEFE (HZRAR) 22 17 28 18 85
K5 BiymBEhE (ZE8) 24 11 26 18 79
— | ENEFEE (BEHE) 11 10 21 20 62
a6 BIERME (RAAR) 16 20 18 17 7
=  |BiINTIHEE (BRE) 27 16 19 19 81
H6 FEEN (FER) 18 17 29 15 79
- |ElE— (BEWUE) 17 15 14 12 58




